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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

3500

3000

2500

.
_+
—

EcFzExp
ECdef

water_ec

2000

1500

1000

Warning: col [ EcFgro’, 'EcPltng

'] is missing

500

50

75

100 125 150

2 % 2 0 X 2 X X 2

175



Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-1

BrE) | GEBAK @) | ERE (EH/R) (KR R

07:30 170 80.0 & FiHR@07:30 (FKRF1EEES)
08:15 170 80.0 & FhHA@08:15 (KRHE{ERESE)
09:00 170 80.0 i FnH#e09:00 (K FERLES)
09:45 170 80.0 5 Fi#A@09:45 (FRAAIEEES)
10:25 170 80.0 5 FiH#fe10:25 (KRFEEREE)
11:15 170 80.0 & FHfe11:15 (REERSS)
12:00 170 80.0 & FnHfe12:00 (REERSS)
12:45 170 80.0 5 FilR@12:45 (GRAAERHSE)
13:30 170 80.0 & FiHHe13:30 (KRF1EEE)
14:15 170 80.0 & FnHfe14:15 (REERES)
15:05 170 80.0 & FnHRe15:05 (RFERLEE)
23t 1870.0 (113%) 880.0 3Z3KEC: 1840.0, PH: 6.0

unusual large postFgEt from yesterday (269), set to 240.0 ml.
HE R 13t B RECEIR R .

RERSEREC (2535.0) 5i&EEC (2000.0) REK K, BHRE
[E;&EC 4730.0 K5, EiFHARECAER MitER

PE[EIRECE (2535. 0 vs 4730.0)53 5

RER RS HEREC/PHIETR K, P RERNIIRELRER
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P3-1

BfiE) | GEBIETIC (F) | EHME (BEAH/K) | XK EE

07:35 200 70.0 El 1BRi&@07:35 Fzh (GRAAEREEE)
08:10 200 70.0 E| {Rig@08:10 Fzh (RE{ERSE)
08:45 200 70.0 E 1BRi&e08:45 Fz (RAEREE)
09:30 200 70.0 5| 1Ri&e09:30 Fz (KREAEEKS)
10:30 200 70.0 E BRi%e10:30 Fz1 GRAERESE)
11:20 200 70.0 S Ri%e11:20 Fzh (RAERSE)
12:00 200 70.0 =l RRiB@12:00 Fzh (REAKEE)
12:40 200 70.0 E BRige12:40 Fz1 CGRAERESE)
13:20 200 70.0 S| {Ri%e13:20 F3h (RAERSE)
13:55 200 70.0 5| 1Ri&e13:55 Fz (REAERS)
14:25 200 70.0 E BRige14:25 Fz1 CGRAERESE)
15:00 200 70.0 El 1BRi&e15:00 Fzh CGRAEREE)
15:40 200 70.0 El 1BRi&e15:40 Fzh CGRAEEE)
23t 2600.0 (13%) 910.0 3ZHKEC: 1840.0, PH: 6.0
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P3-1

BYE) | GEBERTIC (B)) | EBE (BEAH/#K) | XS R

08:00 140 80.0 FE| 1B2i&@08:00 Fzh (KRAAEREIZE)
09:00 140 80.0 FA| 1BRi&@09:00 F3h (FKAIEREEE)
10:30 140 80.0 FH| 1BRi&@10:30 Fzh (RAEREE)
14:35 140 80.0 FA| {Ri&@14:35 Fzi (GRAERHSE)
23t 560.0 (4%) 320.0 3R 3HKEC: 1840.0, PH: 6.0
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